Total Sythesis of ()-Aspergilline A Submitted by Komba Thomas

/)(N,DMB P .DMB o O
/
~ cl MOMe

Br Br H
Mel Pd(PPhs),
0 K,CO3 0 Cul, Cs,CO3 0 DIPEA (excess)
HN DMF, 80 °C N DMF, 80 °C N DCM, -78 °C
, © HsC , O

94% 2% 57%

Iz

DMB, O
TMS-OTf
420 psi Hy, TEA
OCH;  Raney Ni [ DMmP 0-35°C,
5
MeOH, 48 h DCM, then TiCl,
10) 69% (2 steps) DCM, -78 °C-RT
76%
HiC' Yo 4
o]
o0 A
N-DMB
£ DCM/H,0 MeCN
R2 o 75°C, 72% 50 °C, 76%
H:C 07 R,=TMs
R, = CO,Me
1. PIFA
Oxone DCM, RT
MeCN/H,0 .
2. Degassed 3:1
0, 0,
0°C,67% TFA:H,0, 55 °C
26%
1. NaSePh 1. BusSnH, AIBN
18-C-6, THF, 0 °C Toluene
O 2. Mg(CIOy), 115 °C-RT 0
Ac,0, 75 °C
< Ao 2. K,CO;, < I -‘|‘_|OH
3 ~~ H 3. HgO, I, hv MeOH Yo
N\ 9 oH 2 NS 9 on
HaC _\O HO DCM,115°C RT HaC o HO

12

3
7% (5 steps) Aspergilline A 14

What is DMB? Explain the transformation of compound 3 to 4.

Give the structure of the intermediate 5 and account for the formation of 7 from 6.
Explain the conversion of 9 to10.

Account for the formation of 12.

Propose a stepwise formation of the intermediate 13.
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Q1. What is DMB? Explain the transformation of compound 3 to 4.

DMB = dimethoxybenzyl
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Q2. Give the structure of the intermediate 5 and account for the formation of 7 from 6.

Mukaiyama Aldol Addition
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Q3. Explain the conversion of 9 to10.

Ry =TMS
7 R2 = COZMG




Q4. Account for the formation of 12.

Q5. Propose a stepwise formation of the intermediate 13.

Step 1: Ester hydrolysis to carboxylic acid
Step 2: Peracetylation
Step 3: Hundsdiecker iodinative decarboxylation
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